 EQ \b(6x-7)\s\up8(2)-5\b(2x-5)\b(2x+5)-2\b(4x-15)\b(2x-4)=-2 
 EQ \b(6x-7)\s\up8(2)-5\b(2x-5)\b(2x+5)-2\b(4x-15)\b(2x-4)+2=0 
 EQ \b(36x\s\up8(2)-84x+49)-5\b(2x-5)\b(2x+5)-2\b(4x-15)\b(2x-4)+2=0 
 EQ \b(36x\s\up8(2)-84x+49)-\b(10x-25)\b(2x+5)-\b(8x-30)\b(2x-4)+2=0 
 EQ \b(36x\s\up8(2)-84x+49)-\b(20x\s\up8(2)+50x-50x-125)-\b(16x\s\up8(2)-32x-60x+120)+2=0 
 EQ \b(36x\s\up8(2)-84x+49)-\b(20x\s\up8(2)-125)-\b(16x\s\up8(2)-92x+120)+2=0 
 EQ 36x\s\up8(2)-84x+49-20x\s\up8(2)+125-16x\s\up8(2)+92x-120+2=0 
 EQ 8x+56=0 
 EQ 8x=-56 
 EQ x=\b(-56):8 
 EQ x=-7 
 EQ \b(x-1)\b(x+1)=2\b(x-5)\s\up8(2)-x\b(x-3) 
 EQ \b(x-1)\b(x+1)-2\b(x-5)\s\up8(2)+x\b(x-3)=0 
 EQ \b(x-1)\b(x+1)-2\b(x\s\up8(2)-10x+25)+x\b(x-3)=0 
 EQ \b(x\s\up8(2)-1)-\b(2x\s\up8(2)-20x+50)+\b(x\s\up8(2)-3x)=0 
 EQ x\s\up8(2)-1-2x\s\up8(2)+20x-50+x\s\up8(2)-3x=0 
 EQ -51+17x=0 
 EQ 17x-51=0 
 EQ 17x=51 
 EQ x=51:17 
 EQ x=3 
